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36.A Gerunds: Verbal Adverbs

In the previous lesson we examined participles (verbal adjectives). Now let us look at what are normally referred
to as gerunds or verbal adverbs. There are just two types of gerunds in Russian (as opposed to four types of
participles): present (imperfective — as would be expected) and past (perfective only — more on this later).

36.1.A Present (Imperfective) Gerunds: Form  -5I(Cb) / -A(Cb)
To form an present (imperfective) verbal adverb, remove the ending from the present tense onu-form (-yt/-10T,
-at/-s7) and replace it with -s1 (or -a if a spelling rule prohibits -s1). Unlike with participles, with gerunds -cs1 > ¢b

after -s1/-a, which means you never get -ca in a gerund.

Present Tense oHu-form

Imperfective Gerund

YUTA-I0T YUTAS

TYJS-I0T Ty

KUB-YT HKUBS

CTO-IT CTOsL  (See below for info on stress)
3aHUMA-I0T-CS 3aHUMASCh

TOBOP-ST TOBOpS

CIICII-aT criema

CTy4-aT CTy4a

Remember to use soft-indicating -1 whenever possible, even when the stem ends in a hard consonant, as in kussi,
kJaas, etc. The letter -a is reserved for spelling rule consonants: gepakd, ciasima, etc. We mentioned this
automatic softening back in Lesson 5, which we will repeat here again:

All verb stems soften before endings in {O} (-€/-e), {I} (-n), {A} (-9)

So, after stems that end in a hard consonant, e.g. you will never find the letters o, bI, or a. Instead write only &/e
(present tense), m (imperative), s (present gerund).

36.b.1a Some exceptions in the formation of present gerunds: naBas, Oyayumn

e The three double-stem verbs with past/infinitive stem in -aBaii- verbs keep the -aBaii- (instead of using the 3
plural present): BcTaBasi, ocTaBasi; 1aBasi, MPOAABAsL, 0TIABAS; Y3HABAS, MPU3HABASCH.

While selling ice cream on the corner, Vitya
thought about his girlfriend.

IIponaBas MopdxkeHOe Ha yriry, BUTs gyman o
CBOCH JEBYIIIKE.

While getting up, he noticed that it was raining
outside.

BcTaBas, on 3aMETmII, 4TO HA YIIUIE HIET
JIOKIb.
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e The verb be {6yn+/ 6b1+} has the imperfective gerund form 6ymyun, which many Russians consider very
bookish and “awkward”.

bynyuu B [IpriHCTOHE, OH YACTO XOJ¥II Ha While he was in Princeton, he often went to The
«CTPUT». Street.
36.6.2 Stress in imperfective gerunds

Normally the stress in an imperfective gerund is similar to the present tense a-form. (so you may need to “undo”
shifting stress.) A few exceptions are listed below. Notice that three of the five exceptions refer to physical
position (and are among the most commonly found imperfective gerunds).

Imperfective Gerunds With

Unpredictable Stem Stress
néxa lying (s1 mexy)
cuas  sitting (s1 cKy)
cTOs  standing (s1 cTOI0)
msina  looking (s1 TIISIKY )
*cyna  judging (s cyxy)

*See below for use of this gerund in the fixed expression cyasi mo judging by.

g@ Form imperfective gerunds from the following verbs:

1. mymaii+ 2. 3aHUMAN+...CH 3. Kpuya+
cHmé+ 5. {nmaii+’ / naBaii+} 6. mpoch+
7. xnaf+ 8. roBopu+ 9. crosi+
10. BO3BpAIIA¥i+...C5 11. xxamnosa-+...cs 12. CMOTpé+
13. rynsii+ 14. cmedi+...ca 15. Kypi+
36.b.2 Verbs that don’t have an imperfective gerund

Many, many imperfective verbs do not normally form a gerund. Most double-stem verbs do not form an
imperfective gerunds, nor do verbs whose stem end in a velar (k, r) or many a-stem verbs.

Some (of the Many) Verbs with No Imperfective Gerund

[V r r o > . , < > < r
{moii+" / me+}; {ém+ / éxa+}; {mpi+ / mu+}; MEK+"; MOT+ ; KJla+; TUCA+; XOTETh

To express waiting, the stem oxuaaii+ is used:

OHA cuiéna Ha cKaMErke, 0XKUAAs CBOETO She sat on the bench, waiting for her husband.
MyXa.
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36.5.3 Gerunds never change form ©

Unlike participles, which are regular adjectives, gerunds (like regular adverbs) do not decline (thank goodness).
So there’s no such thing as a “comparative” gerund.

36.B Present (Imperfective) Gerunds/Verbal Adverbs: Meaning

The imperfective gerund denotes an action that is simultaneous to the action of the main verb. There are several
possible translations for an imperfective gerund, depending, of course, on the context. As a general rule, all the
translations involve a verb form in ‘-ing’:

‘X-ing’ OHa moIoNuIa, YiapI0asCh.
She walked up, smiling.

Bosick cHIBbHOTO TOK/I, S B3511 30HT C COOOM.
Fearing (because I feared) a strong rain, I took an umbrella along with me.

‘while X-ing’ Cuns B aBTOOYCE, MBI pa3rOBAPUBAIIH O PYCCKOIT IpaMMATHKE.
While sitting in the bus, we talked about Russian grammar. (Y eah, sure!)

YKussi B Heio-MOpKe, st cXoiin Ha YitMy KOHIIEPTOB.
While living in New York, I went to a ton of concerts

‘by X-ing’ OH roTOBMICS K 9K3AMEHY, UUTAS CIIOBAPb.
He prepared for the exam by reading the dictionary

MgI crteinu 3a COOBITHSMU, CYIIAst PATUO.

We followed the events by listening to the radio.

The above are the most common ways of translating imperfective gerunds. We will point out any other
possibilities as they arise.

36.B.1 Be Careful With ‘-ing’ Forms

Even though gerunds in Russian normally correspond to ‘-ing’ forms of the verb, you cannot use them in exactly
the same way that forms like smoking, singing, dancing, etc. are used in English. Often an ‘-ing’ form in English
must appear as an infintive in Russian. Compare:

Russian: Infinitive English: ‘ing’ Form
51 MO0 TaHIIEBATS. 1 like dancing.
He xyputhb No Smoking
Cky4yHO cHIETH TOMa BCE BPEMSL. 1t’s boring sitting at home all the time.
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@ MNepeBeauTe Ha pyCcCKUM:

1. Sitting motionlessly on the sofa, he thought about
Russian verbs.

3. Scooting over toward Vera, Misha burst out crying.

5. He ate while listening to music.

7. Missing her home, she often wrote letters to her
parents

36.B.2

N

While lifting the suitcase, she saw a large dog.

her ex-boyfriend.
He fell asleep repeating the poem.

8. Complaining about the bad weather, he closed the

windows.

The Spoken Equivalent of Imperfective Gerunds

As with participles, gerunds are found almost exclusively in the written language. In the spoken language
imperfective gerunds are normally expressed either by (1) koraa... ; (2) a regular imperfective verb (even past
tense—if the simultaneous action took place in the past); (3) u3-3a Toro, 4ro... due to the fact that; because.
(Again, these are just the most common examples. There are other possibilities.)

36.B.3

Written Lanuage With Gerund

Spoken Language

UwuTast razéry, s yBUACH CTaThiO O TOM, YTO MO
npodéccop ykpan caadErku U3 CTOIOBOIA.

Korna st yntan ra3éry, s yBUJEN CTaThIO O TOM,
910 MO pohéccop yKpan caneTku u3
CTOJIOBOM.

OH KaXIbBIA IeHb ITALIET ITUCbMa JIEXKa B
KPOBATH.

OH K&XIbIH JCHD JIS)KUT B KPOBATH M ITUAIIET
IIACHbMA.

Ct0s BO311e OMONMMoTéKM, Carlra >k1ajl CBOIO
MOAPYTY.

Cama crosi1 BO3i1e OMOINOTEKH U JKIAJI CBOIO
MOJIpyTYy.

He 344 uto nénats, s 3akpuuan «Ilomornte!»

HW3-3a Toro, 4TO ST HE 3HAIN YTO AEJATh, 5
3akpuudn «[Tomorure!»

Gerunds In Fixed Expressions

While gerunds (like participles) are to a large extent limited to the written language, there are a number of

common expressions that contain imperfective gerunds:

HECMOTps Ha (+ accusative / TO, 9TO)

Hecmompsi na mo, umo Bépa BCio HOUYD
3aHUMAJIACh, OHA TIONy4rIIa TBOWKY Ha
JK34MEHe.

Hecmompsi na minoxyro noroay, OHA PEIIHIH
UTPATH B TEHHHC.

despite; in spite of (the fact that)

Despite the fact that Vera studied all night, she
got a D on the exam.

Despite the bad weather, they decided to play
tennis.
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YECTHO TOBOPSI to be honest

Yécmno 2060psi, y TBOCTO MyKa HET BKyca.

Yécmno 2060psi, s 3aCHYIT Ha JIEKIUH.

cyns no + dative Jjudging by

Cy0s no TBOEH yIiBIOKE, THI TOBOJIbHA
MATEPKOM.

Cy0s no TBOEH PEaKIINH, TH CO MHOU HE
COTJIACHA.

To be honest, your husband has no taste.

To be honest, I fell asleep at the lecture.

Judging by your smile, you 're satisfied with an A.

Judging by your reaction, you disagree with me.

HE ToBOps k€ 0 (+ prepositional / ToM, 4TO) not to mention (the fact that)

OHnHa npeKkpacHO 3HACT PU3HKY, He 2080psi
Y2HCE 0 MATEMATHKE,

She knows physics really well, not to mention
math.

You need to be careful with He rosopsi o0 Tom. In English, we can use the phrase not to mention directly in front
of an adjective or adverb: He’s smart, not to mention good-looking. But in Russian—due to considerations of

case—you often need to insert the “buffer” phrase Tom, uto and then add an entire clause in which the adjective
or adverb is expressed:

Bépa oueHp yMHas1, HE TOBOPS O TOM, UTO
O4eHb n00pas u meéapas.

g@ MNepeBeguTe Ha PycCKUn:

1.

To be honest, I’m bored.

Judging by your reaction, you would like to kill
me.

He’s lazy, not to mention very stupid.

I told him that knowing that he can’t keep secrets.
Despite the bad weather, we decided to play golf.

Vera is very smart, not to mention kind and
generous.

2. Lying in bed, he smoked an expensive French
cigarette.

4. Not paying attention to anyone, Vera put on her
coat, gloves and left.

6. Despite the fact that [ was born and raised in Japan,
I don’t speak Japanese.

8. Judging by his smile, she said “Yes.”
10. To be honest, I didn’t get enough sleep.
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25 YnpaxHénue 1  OTBETbTe Ha BONPOCHI MO PACCKA3Y:

1.

10.
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25 YnpaxHéHue 2

1.

TyMai+
CTOST+

<
CMOTpE+

JepiKat

translation into english

25 YnpaxHénue 3

1.

36-n ypok — [lomawiHee 3agaHue
Form Imperfective Gerunds, when possible

2. 3aHUMAN+...cH

4. xmad+
6. TroBOpH+
8. mmca+

MepeBennTe Ha pyccKui

Judging by your reaction (pedkumsi), he’s not your kind of guy (use the word Bkyc).

How was your trip to Moscow?

Socrates was a very wise man.

Don’t suffer! Time heals all wounds.

Sitting on the couch, she thought about her crazy husband.

Juding by your reaction, you don’t agree with the head of the company.
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